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1. The expanded form of (3x+9) (x+8)is

() (2x2+33x+72) (i) (3x2+33x+72) (iii) (4x2+33x+72) (iv) (6x2+33x+72) (v) (33x+72)
2. The expanded form of (3x+9) (3x—=9) (2x—7)is
(i) (20x3—63x2—162x+567) (i) (16x>—63x2—162x+567) (iii) (19x3—63x2—162x+567)
(iv) (17x3-63x%2-162x+567) (v) (18x3—63x%2—162x+567)
3. The expanded form of (x—8) (x—2) (x+9) (x—3) is
() 2x*=4x3-71x2+366x—432) (i) 3x*—4x3—71x2+366x—432) (iii) (=x*—4x3—-71x%2+366x—432)

(iv) (X} =4x3—71x2+366x—432) (V) (—4x3—71x2+366x—432)
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4. The expanded form 0f(§C+§) is
(i) (26+2)><(26+2)><(26+2) (ii) (2C+2) (iii) (26+2)><(26+2)><(26+2)><(26+2) (iv) (2C+2)><(26+2)
i) (zC+=)X(=C+=-)X(=Cc+=) (ii) (zc+=) (iii) (zCcH+=)X(zC+=-)X(=Cc+=)X(=C+=) (iv) (zCH+=)X(=C+=
3 5 3 5 3 5 3 5 3 5 3 5 3 5 3 5 3 5 3 5
(v) (zc+2)x(2c+2)x(zc+2)x(2c+2)x(2c+2)
V - - - - - -
3 5 3 5 3 5 3 5 3 5
5. The value of (—2/—8) X (4ij+4))is

(i) (—8/2j—42ij—32j) (i) (=8/2j=37ij=32j) (i) (=9/2j—40ij—32)) (iv) (—8/%j—40ij—32))

(v) (=7/%j—40ij—32))

6. The value 0f(5WX2—12W)X(2WX2—3WX) is
() (10w2X*—15u2x3—24w? x2 +36w?x) (i) (11w2x*—15w2x3 —24w?x%2 +36 W2 x)
(i) (102 x* =182 x3 =242 x%+36u2x) (iv) (92 x*—15w2x3 —24w?x2 +36 W2 x)

(v) (102 x* =122 x3 =242 x? +36 W2 x)
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7. The expanded form of (—g) is

() (=g)x(=g)x(=9)X(=g)x(=g) (i) (=g)X(=g)x(=9g)X%(=g) (i) (=g) (iv) (=g)x(=9)*%(=9)
(v) (=9)%(=9)
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8. The expanded form of(Ss) is

4 4 4 4 .4 4 .4 4 4 4 4 4 4 4 4
(i) =sX=5%X-5 (ii) =S (iii) =sX=5 (iv) =SX-SX-SX-5X—-5 (V) =SX-SX-5X-5§
5 5 5 5 5 5 5 5 5 5 5 5 5 5 5
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9. The expanded form of (4 bc) is

(i) 4bc (ii) dbcx4dbcx4dbcxdbe (iii) dbcx4dbcx4dbe (iv) dbcx4dbcx4dbecxdbecxXxdbe (v) 4bcx4bc
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10. The expanded form of(ztu) is

o1 1 1 1 1 o1 o1 1 o1 1 1 1 1 1 1
(i) ~tux—tux—tux—tux—tu (i) —tu (iii) —tux—tu (iv) —tux—tuxXx—tux—tu (v) —tux—tux—tu
2 2 2 2 2 2 2 2 2 2 2 2 2 2 2

11. The expanded form of(—c—l)3 is
(i) (mc—1)xX(-c—-1)X(-c-1) (i) (mc—1)X(-c—-1)X(-c—-1)%X(-c—1)
(ili) (mc=1)X(=c—=1)X(—=c—-1)X(=c—-1)%X(—c-=1) (iv) (=c—=1)%X(—=c-=1) (v) (=c-1)
2
12. (a+b)

(i) (a2+2ab+b?%) (i) (2a%+2ab+b2) (i) (a2+b2) (iv) (a’2+5ab+b2) (v) (2ab+b?)
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13. (a—b)

(i) (a2+b2%) (i) (2a2-2ab+b2) (i) (a2—=2ab+b?) (iv) (a°—5ab+b2%) (v) (—2ab+b?)
14. (a+b)(a—»b)

(i) (a2—=4b2) (i) (2a2—=b2) (i) (=b2%) (iv) (a2=b2%) (v) (a2 +b?)

3

15. (a+b)

(i) (a3+a%b+3ab2+b3) (i) (2a3+3a%b+3ab?+b3) (i) (a3+3a2b+3ab%+b3)

(iv) (3a2b+3ab2+b3) (v) (a3+6a%b+3ab%+b3)

16. (a—b)
(i) (=3a%b+3ab?—b3) (i) (a3—-5a2b+3ab%—-b3) (i) (a3>-3a2b+3ab%-b3)

(iv) (2a3—-3a2b+3ab%-b3) (v) (a3>-a2b+3ab%—-b3)
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17. (a+b+c)
(i) (a2+2ab+2ac+b?+2bc+c2) (i) (a2+5ab+2ac+b?+2bc+c2) (iii) (2ab+2ac+b2+2bc+c?)

(iv) (2a2+2ab+2ac+b%+2bc+c2) (v) (a%+2ac+b?+2bc+c?)



18. (a+b)(a%—ab+b?)

() b3 (i) (a3-2b3) (i) (a3+3b63) (iv) (2a3+b3) (v) (a3+b3)

19. (a—b)(a%+ab+b?)

(i) (a3=3b3) (i) (a3=b3) (i) (a3+b3) (iv) (=b3) (v) (2a3-b3)

20. (a+b+c)(az—ab—ac+b2—bc+62)

(i) (a3=3abc+b3+3) (i) (=3abc+b3+c3) (i) (a3 —6abc+b3+c3) (iv) (a3—abc+b3+3)

(v) (2a3=3abc+b3+c3)
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21. (—-4a+b)

(i) (158%—8ab+b2) (i) (17a2—8ab+b?) (iii) (16a%2—6ab+b%) (iv) (16a%2—11lab+b?)

(v) (16a%—8ab+b?)

2
22. (—=2a+2b)
(i) (43%—6ab+4b?) (ii) (4a%—11ab+4b?) (i) (3a2—8ab+4b2) (iv) (5a°—8ab+4b?)
(v) (4a%—-8ab+4b?)

23. (4a-2b)(4a+2b)

(i) (16a%2—4b2) (i) (16a%2—-6b2) (iii) (158%2—-4b2%) (iv) (16a%2—b2) (v) (17a%2-4b?)

3
24. (=2a+4b)
(i) (—9a3+48a2b-96ab%2+64b3) (ii) (—-8a3+46a2b—96ab2+64b3)
(iii) (=823 +48a3%2b—96ab%2+64b3) (iv) (—7a3+48a2b—96ab%+64b7)

(v) (=883 +51a%b—96ab%+64b3)

3
25. (—=2a+2b)
(i) (—8a3+24a2b-24ab%>+8b3) (i) (—8a3+21a2b-24ab>+8b3) (iii) (-=8a3+27a’b—24ab%+8b3)

(iv) (—=7a3+24a2b-24ab?+8b3) (v) (—9a3+24a2b—24ab%+8b3)
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26. (-4a—b—-4c)
(i) (17a%2+8ab+32ac+b2+8bc+16c2) (i) (15a2+8ab+32ac+b%+8bc+16c2)
(i) (16a2+5ab+32ac+b%+8bc+16c2) (iv) (16a2+8ab+32ac+b2+8bc+16c2)

(v) (16a2+10ab+32ac+b%+8bc+16c2)

27. (3a-2b)(9a%+6ab+4b?)

(i) (27a3=5b3) (i) (2783 —-10b3) (iii) (26a3—-8b3) (iv) (28a3—8b3) (v) (27a>—8b3)

28. (—4a—b)(16a%—4ab+b?)

(i) (—=63a3—-b3) (i) (—64a3—4b3) (iii) (=6583—=b3) (iv) (—64a3+b3) (v) (—64a°—b3)

29. (4a—-2b-3c)(16a%+8ab+12ac+4b%—6bc+9c?)
(i) (64a3—72abc—8b3-27c3) (ii) (64a3—T4abc—8b3—-27c3) (i) (65a3—72abc—8b3—27C3)

(iv) (64a3—69abc—8b3—27c3) (v) (63a3—72abc—8b3-27c3)

2
1
30. Expand(x+- )
X
1 1 1 1 1
. ) 2 2 . 3 2
(i) x+ 2+ - (i) 4x 4+ 2 + - (i) x~+ 2+ - (iv) x4+ 2+ - (V) — 2x "+ 2+
2
1
31. Expand ( x —
(x-1)
1 4 1 1 1
(i) x°—= 24— (i) x°= 2+ (i) x2— 3+ (V) x2— 24— (v) x2— 2-—
2 2 2 2 2
X X X X X
1 1
32. Expand( x— - X + X+
pand ( ) ( ) ( 5)
X X X
7 3 3 1 1 2 1
() X2+ X+ 4X 4 — 4+ — + — (i) X+ 04 x4+ — (i) xT=— (V) - x= — —
3" 5 4 3 7
X X X X X X X

33. Expand(x— 1)(X+ 1)( X2+ 1)

() = 2x°— 2x (i) 7= 1 (i) 3x°+ 6x°+ 3x7+ 6424 3x+ 3 (V) X+ X4 o+ x°
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